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A





A landscaping company uses this layout in many different sizes when planting flowers in a rectangular plot.  A different kind of flower is planted in each section.  The dimensions of each section are in the ratio of 2:1.





�


The table below describes y, the area of one rectangular section in square units, as a function of x, the width of the section.


                       �


Which equation describes this functional relationship?





     	A)  y = 6x2





     	B)  y = 2x2





     	C)  y = � EMBED Equation.3  ���x2





     	D)  y = � EMBED Equation.3  ���x2





What is the domain of the function shown on the graph?


                                                           �


     	A)  -2 < y ≤ 2





     	B)  -4 ≤ x ≤ 6





     	C)  -4 < y ≤ 2





     	D)  -2 < x ≤ 6
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A flag company makes storm-signal flags in multiple sizes.  The square flag design is used to warn small craft of wind speeds above 38 miles per hour.  The length of the side of the flag is always 3 times the length of the side of the black square.


                                                       �


The table below describes y, the area of the black square in square units, as a function of x, the length of the flag’s side.  


�


Which equation describes this functional relationship?





	A)  y = 3x2





	B)  y = � EMBED Equation.3  ���x2





	C)  y = x2 – 9





	D)  y = 9x2





Mrs. Mora wants to put a sidewalk around a rectangular garden.  The garden is 7 feet wide and 18 feet long.  The sidewalk will be the same width all the way around the garden.





                                         �





The area of the sidewalk will be 150 square feet.  What will be the sidewalk’s width, x?





	A)  5 ft





	B)  2.5 ft 





	C)  3.5 ft





	D)  5.5 ft
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Which inequality best describes the graph below?


                                                        �


	A)  � EMBED Equation.3  ���





	B)  � EMBED Equation.3  ���





	C)  � EMBED Equation.3  ���





	D)  � EMBED Equation.3  ���








Andrew wants to put a fence around a corner of his property.  He has 320 feet of fencing and plans to use at least ½ of it.  The fenced area will be shaped like a right triangle with sides in the ratio of 3:4:5.  Which range describes the length of the shortest side of the triangle?





Less than 40 ft





From 40 ft to 80 ft





From 85 ft to 125 ft





	D)  From 130 ft to 170 ft
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